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INSTRUCTIONS FOR CANDIDATES
Answer all questions
All questions carry equal marks.
Only one answer is to be given for each question.
If more than one answers are marked, it would be
treated as wrong answer.
Each question has four alternative responses marked
serially as A, B, C, D. You have to darken only one
circle or bubble indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

. 1/3 part of the mark(s) of each question will be

deducted for each wrong answer. A wrong answer
means an incorrect answer or more than one
answers for any question. Leaving all the relevant
circles or bubbles of any question blank will not be
considered as wrong answer.

. Mobile Phone or any other electronic gadget in the

examination hall is strictly prohibited. A candidate
found with any of such objectionable material with
him/her will be strictly dealt as per rules by
Committee.

. Please correctly fill your Roll Number in O.M.R.

Sheet. 5 Marks can be deducted for filling wrong or
incomplete Roll Number.

If there is any sort of ambiguity/mistake either of
printing or factual nature, then out of Hindi and
English Version of the question, the English Version
will be treated as standard.

39wl qffasT F a9 dF T @ Tq dF FeT o A

Do not open this Test Booklet until you are asked to do so.
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Seven people P,Q,R,S,T,U and V are sitting in a
straight line adjacent to each other, facing the
north (not necessarily in the given order). R is
sitting to the immediate right of U. U is sitting third
to the right of P. There are only four persons
sitting between P and T. Q is the immediate
neighbour of V and U. Who can be the immediate
neighbour of S?

P,Q R, S T, U3 Vams v aFa ta-qgay &
g vF Welt f@r A seaw A IR ST I IS F
(3TaeTs g fF RU v w7 & I3 &)1 R, U®%
AFcam i daT &1 U, P & gq¥ & faYy TueT ©
dor1 81 P 3R T& &g & Faa IR =afFa 33 &1 Q,
V 3R U &1 Adean wsikft §1 S &1 Aeead it

FiT & THar 8§72
(A)Q (B)U
©oT (DR

What is the compound interest on X 5,000 for 2
years @ 5% p.a. compounded annually?

5,000 39F &1 2 9§ & AT 5% ¥+ sO=r T &
THgfG ST fhden @, STEfF sATer AT w9 @
waifaa gar 82
(A) 500.00
(C) 512.50

(B) 510.00
(D) 515.00

Select the option that represents the number of
triangles in the given figure.3® R%eq FT 9IT HY

St & o Il & et fr dE FY gerr #

(A) 14 (B) 16

(C) 18 (D) 17

The marked price of a toy is Rs.1,600. If the
shopkeeper declares a discount of 10% and then
10% cash discount, then what is the selling price
of the toy?

wF @l &1 sifea qea 1,600 T g1 IRy
gHER 10% # e AR WY 10% a%e g

WY FYaT §, @ Rl 1 {Aww Ao e §0

(A) Rs.1,096 (B) Rs.1,296
(C) Rs.1,240 (D) Rs.1,088

Study the given diagram carefully and answer the
guestion. The numbers in different sections
indicate the number of persons.

R av 3w &1 waeEE seaEe w¥ 3R wee @
3ea) &1 Rl Iepemn F wean safFaat
e gt &

et
How many such boys are there who play
badminton but NOT tennis?

AqI?
(A9 (B) 17
©)8 (D) 11

Three different positions of the same dice are
shown. Select the symbol that will be on the face
opposite to the one having '€'.

wF @ I Y A reer-areeT Rufadr Rag g §
39 Ydie &1 99 HIAT ST €' T BeAd & QAT
Heldh 9T BIamm|

€ @ ¥
€
¥ © % % $
(A)© (B) ¥
©) @ (D) $

The respective ratio of milk and water in the
mixture is 4 : 3. If 6 litres of water is added to this
mixture, the respective ratio of milk and water
becomes 8 : 7. What is the quantity of milk in the
original mixture?

st & qu 3R urEl w1 e U 4: 3% AR
39 fAsor & 6 ofex ol femn amar &, & g sk
urelt FT FEftra AT 8¢ 7 8 v ¢l HqA Fsror A

gy & AT FAT 3
(A) 84 litres (B) 50 litres
(C) 48 litres (D) 36 litres

In a certain code language, 'He is my nephew’ is
coded as 'Co Pv Zs Mn’, 'That is my car’ is coded
as 'Zs Pt Pv Ga’, 'He is your uncle’ is coded as 'Co
Pv Ex Yz'. What is the code for ‘nephew’ in this
code language?

v faRad Fe o F | 'He is my nephew' F 'Co
Pv Zs Mn' & T & Feag f&ar Sirar 8, ‘That is my

car‘ﬂﬁ'ZsPthGa‘*Wﬁ'WﬁTﬂTaﬁT%,
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10.

11.

12.

13.

14.

'He is your uncle' I 'Co Pv Ex Yz' & ¥ & Feag
far ST %1 59 FT© wTT A ‘nephew' F fAT FE
FqT §

(A) Co (B) Mn (C) zs (D) Pv
A stock of food is enough for 315 men for 48 days.
For how many days the same stock of food is

enough, if 45 more men join?

TF S F HER 315 ToNi & fAv 48 Rai ¥ faw
gaiea ¥ Ay 45 gow 3k anfde g e ar sieer

#1 8 #3R Faer = & fow waea ghm?
(A)46  (B)42 (C)48 (D) 44

A sum of Rs. 4,000 becomes Rs. 4,960 in 4 years at
simple interest. If the rate of interest becomes 1.5
times of itself, then how much this sum will
become after 4 years?

WIUROT 41T W 4 a9 # 4,000 I9F FT HALUA 4,960
T g 1T ¥ AR SO F W F@F A L5 T A

ST, Y 4 9§ 91E I§ HAUA fFaar @ Srean?

(A) Rs. 5,440 (B) Rs. 5,680
(C) Rs. 5,280 (D) Rs. 4,890

Select the option that expresses the following

sentence in indirect speech.

She said to me, “I have often told you not to play with

fire.”

(A) She told me that she had often told me not to play
with fire.

(B) She asked me that she had often told me not to
play with fire.

(C) She told me that she has often told me not to play
with fire.

(D) She said to me that she has often told me not to
play with fire.

he following sentence has been divided into parts.

One of them may contain an error.

Select the part that contains the error from the

given options.

She has been speaking / four languages / very fluent /

since childhood.

(A) since childhood.

(C) very fluent (D) four languages

Select the option that expresses the given

sentence in passive voice.

They have built a new bridge across the river.

(A) A new bridge will have been built across the river
by them.

(B) They have been building a new bridge across the
river.

(C) A new bridge has been building across the river by
them.

(D) A new bridge has been built across the river by
them.

(B) She has been speaking

The following sentence has been divided into
parts. One of them may contain an error.

Select the part that contains the error from the
given options.

15.

16.

17.

18.

19.

20.

The team played / extremely / good / during the match.
(A) extremely (B) The team played
(C) good (D) during the match.

Select the most appropriate ANTONYM of the
underlined word in the given sentence.

It is a misconception that the more you learn, the more
likely you are to succeed.
(A) Hallucination

(C) lllusion

(B) Fallacy
(D) Certainty

Select the option that expresses the following

sentence in passive voice.

The students have presented national level projects to

the jury successfully.

(A) National level projects had been presented by the
students to the jury successfully.

(B) National level projects were presented by the
students to the jury successfully.

(C) National level projects have been presented by the
students to the jury successfully.

(D) National level projects have presented by the
students to the jury successfully.

Select the most appropriate synonym of the given
word.

Beneficial

(A) Helpful (B) Kernel

(C) Winsome (D) Strangle

Select the option that expresses the given

sentence in indirect speech.

The class teacher told, “Kneel down in the corridor.”

(A) The class teacher ordered to kneel down in the
corridor.

(B) The class teacher told that they kneel down in the
corridor.

(C) The class teacher had ordered to kneel down in
the corridor.

(D) The class teacher ordered that they should kneel
down in the corridor.

Select the most appropriate option that can
substitute the underlined segment in the given
sentence.

My brother is resembling my mother.

(A) was resembling (B) resembles

(C) had resembled (D) had been resembling
Select the most appropriate ANTONYM of the

given word.

Virtue

(A) Acquire (B) Stout
(C) Precise (D) Vice

Que No. 96 - 100 (Comprehension)

Read the given passage and answer the question
that follows.

Sustainable utensils are proving to be a crucial tool in
our collective efforts towards building a greener and
more environmentally conscious world. These utensils,
often made from renewable resources such as
bamboo or plant-based materials like cornstarch, offer
a myriad of benefits. Firstly, sustainable utensils
significantly reduce our reliance on single-use

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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21.

22.

23.

24,

25.

26.

plastics. Plastic cutlery, traditionally used for
convenience, contributes to the vast amounts of waste
that end up in landfills and oceans, polluting
ecosystems and harming marine life.

By switching to sustainable alternatives, we can
minimise this environmental damage. Secondly,
sustainable utensils are biodegradable  or
compostable, meaning they can break down naturally
over time. This ensures that even if they do end up

in landfills, they persist for centuries like plastic does.
Instead, they return to the Earth without leaving a
lasting negative impact. These utensils can be reused
multiple times, further reducing waste. Many
sustainable options are durable and washable,

making them a viable long-term solution

Based on the information provided in the passage,
which among the following is

NOT an example of sustainable utensil?

(A) Wooden cutlery (B) Plastic cutlery

(C) Edible cutlery (D) Bioplastic cutlery

What distinguishes sustainable utensils from
plastic cutlery?

(A) They are made from non-renewable resources

(B) They are more expensive

(C) They have a lower environmental impact

(D) They have a shorter lifespan

Which of the following is NOT a characteristic of
sustainable utensils?
(A) Non-recyclability
(C) Reusability

(B) Biodegradability
(D) Durability

What is the main focus of the passage?

(A) The importance of sustainable alternatives

(B) The benefits and harms of single-use plastic

(C) The environmental benefits of the sustainable
utensils

(D) The economic benefits of sustainable utensils

Which materials are commonly used to make
sustainable utensils?

(A) Plastic and aluminium

(B) Ceramic and wood

(C) Metal and glass

(D) Bamboo and cornstarch

wfareTe wor & FFafla AT HTAR T FAF T 2
1. 379TEd wEdrg 2. foheq faere

3. Shivee AT

4. M N T GaRT HATeT HHT o ISeT T AT
(A)1,2,34 (B) 2,3,4,1
(C)4,1,23 (D) 4,1,3,2

Give the correct number according to the demand

related to the Constituent Assembly?

1. August proposal 2. Cripps Mission

3. Cabinet Mission

4. Demand for formation of Constituent Assembly by M
N Roy

(A)1,2,3,4 (B) 2,3,4,1

27.

28.

29.

(©)4,1,2,3 (D) 4,1,3,2

HRA wfaue A R{gvar & f FyE W RER
Ao -

1. HRATT HIATeT #H SIg ATITRHAT T TN & |

2. T & A - T Rgied ~ariifad eid & &
3. ETAYTT 7 HEY 2lec T Soorg AT &

4. fafeer dae 1 aXE HRAT qoe T Bl

(A) 3TFT TRT TF &

(B) 39ed dRT 31T &

(C) el 1,2 3R 4 38T gl

(D) el 3 3R 4 31T B

Consider the following statements about

features of the Indian Constitution -

1. There is provision for dual citizenship in the Indian
Constitution.

2. The Directive Principles of State Policy are of
justifiable nature.

the

3. The word federal is not mentioned in the
Constitution.

4., Like the British Parliament, the 'Indian Parliament' is
sovereign.

(A) All the four above are true.
(B) All the four above are false.
(C) Only 1,2 and 4 are false.
(D) Only 3 and 4 are false.

e wfdeer weuer qarr 79 (Je) AR Mg 21 A &
HeTHT 18 g Y & ofi?

(A) 61aT TfaEneT MY (B) 73aT TTALTT TRATEIT

(C) 52aT "faYrsT IMy= (D) 9141 EiaursT T

By which constitutional amendment the voting age
was reduced from 21 years to 18 years?

(A) 61st constitutional amendment

(B) 73rd constitutional amendment

(C) 52nd constitutional amendment

(D) 91st constitutional amendment

fAgeas va AgreEr waTe d FFEafd wlqaar o

HYA HET § ?

(A) = Td Hgrer@r qliefsh @ FgfFd aseafd
EaRT & AT § 3R SHH FRET 6 AT 65 aY
glar gl

(B) 38 §cTel & 3TUR d4T & § oar fh 3Taas
AT & =grareier &7 B

(C) Ig HRA WIHN & W @l Wil § § T ¢

(D) TE Tsedfa & fd SFder giar §l

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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30.

31.

32.

33.

Which one statement related to the Comptroller

and Auditor General is false?

(A) The Comptroller and Auditor General is appointed
by the President and his tenure is 6 or 65 years.

(B) The grounds for his removal are the same as that
of a Supreme Court judge.

(C) He is one of the chief Account protectors of the
Government of India.

(D) He is responsible to the President.

o & 98 1 AR e w1 Al wA Sl ¥

1.@E 2. Sgfedar 3.9 4. AT
(A) 1,2,3,4 (B) 2,3,1,4
(©)3124 (D) 3,2,1,4

What is the correct order of hills from west to east

1. Khasi 2. Jaintia 3. Garo 4. Naga
(A)1,2,3,4 (B) 2,3,1,4
(C)3124 (D) 3,2,1,4

qd @ gftaw A 3R gda AR F1 @@ FA A
sqafeyd MfAw -

1. Heprel 2. eetoran
3. gtenfardy 4. AT3C TaECS
(A)1,2,3,4 (B)2,1,4,3
©)2,1,34 (D) 2,3,4,1

Arrange the mountain peaks in the correct order
from east to west -

1. Makalu 2. Kanchenjunga
3. Dhaulagiri 4. Mount Everest
(A)1,2,3,4 (B) 2,1,4,3
(C)2,1,3,4 (D) 2,3,4,1

i urét sl Ry § 2

(A) 3RTEUS (B) AfAeraTg

(C) fearaer uer (D) e

Where is the Silent Valley located?
(A) Uttarakhand (B) Tamil Nadu

C) Himachal Pradesh (D) Kerala

@ gaAfaa @@ ¢ -

Qe afear

(A) ST S3TTE T - Jar

(B) IT=AT GI3TTE aY - et

(C) foee a3 ST - TcTelot

(D) TS r3a AT - SNl

The correct match is not given -

Doab Rivers

(A) Bari Doab Beas - Ravi
(B) Rachna Doab Ravi - Jhelum
(C) Bist Doab Beas - Sutlej

(D) Chaj Doab Chenab - Jhelum

34.

35.

36.

37.

ﬁamaﬁ(ﬂwgmu@wqﬁ)a;muﬁa
gher Hleel ¥ 2
(A) FTTAT 3frer

(C) ThddTeT SiteT

(B) dlieciah Sitel
(D) gferehe el

Which lake is famous for Kebulamjao (floating
national park)?

(A) Sangmo Lake
(C) Rakastal Lake

(B) Loktik Lake
(D) Pulicat Lake

AFT @ 9 qgar A ‘FHAET MU HgT IAT § ?
(A) $oa (B) a&uT
(C) ooy (D) 3Rl

Which of the following gods has been called
'Ritsya Gopa'?

(A) Indra (B) Varun

(C) Vishnu (D) Ashwini

e e ffew -

EhBeany wrafla s

1. AT () TSTEa

2. gleaama (@) HraTegeT

3. @) et Faary
4. g () 3TT HHART

(A) 1(®), 2(%), 3(5), 4
(B) 1(), 2(®), 3("), 4(M
(©) 1), 2(7), 3(F), 4(F)
(D) 1(®), 2(@), 3(), 4()

Match correctly -

Officer Related Work

1. Collector (a) Revenue

2. Sannidhatra (b) Treasurer

3. Tirtha (c) Lower Employee
4. Yukta (d) Higher Employee

(A) 1(b), 2(a), 3(d), 4(c)

(B) 1(a), 2(b), 3(d), 4(c)

(C) 1(c), 2(d), 3(b), 4(a)

(D) 1(d), 2(b), 3(a), 4(c)

FSOUT HHTAT T ATl ¥ Frdletd HAT HYA H

ggare Hifae-

(A) ITHAR W IR a7 o & faenfaa & 3= gt aur
[GECIG

(B) &1 TR T AEZ FSTUT ATAD Tl § T §3T
gl

(C) AT W RrmeR fafy s yer grar am|

(D) i¥ 1 FHfcTAT T o[cct HIH cTeheiich § ST STl AT|

Identify the incorrect statement related to the
architecture of the Harappan Civilization-

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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38.

39.

40.

(A) Generally the cities were divided into two parts,
the high fort and the lower city.

(B) Evidence of a large bathhouse has been found
from a site called Harappa.

(C) Pictographic script was used on seals.

(D) Bronze statues were made using the lost wax

technique.
FeaAaddT fhdah GIaR 7 TgT 4T?
(A) HgFHAE, JITeTh (B) RISt 2ITg JTeleh
(C) 3331 Tetair (D) IRATGENT JoTelh

In whose court did Ibn Battuta stay?
(A) Muhammad Tughlaq

(B) Firoz Shah Tughlaq

(C) Alauddin Khilji

(D) Ghiyasuddin Tughlaq

ATESTel A e & ¥ T - T &1 AT FWRETET
qr ?

1. ey &1 e AfEeG

2. SER T ATNAR &TaT

3. feeelr &1 arer fover

4. ATgSTgledTdlg I

(A) 3t IRt

(B) hael 2 3R 4

(C) &haer 2,3 3R 4

(D) Fhaer 1 3R 4

Which of the following were built by Shah Jahan?
1. Jama Masjid of Delhi

2. Shalimar Bagh of Lahore

3. Red Fort of Delhi

4. Shahjahanabad city

(A) All the four of the above

(B) Only 2 and 4

(C)Only 2,3 and 4

(D) Only 1 and 4

vaw R 7% AN Flaeh §, S Srerary Y rcaftE A
# wanfaa w82

(1) IS STS3HTFATSS ()& AT

(3) ATSEH 3HfeFaTSS (4) STefarsq
(A) 3UereT TR (B) &haeT 1,2,3
(C) hael 1,2,4 (D) Hhael 1, 3

Which are the major greenhouse gases that affect
the climate to a great extent?
(1) Carbon dioxide (2) Methane

(3) Nitrous oxide (4) Water vapour
(A) All of the above (B) Only 1,2,3
(C)Only1,2,4 (D) Only 1,3

41.

42.

43.

44,

45,

farafaf@a # @ Fi9 @ sy Rada & wo\ga@ Fra
&
(1) ShrarfRFeh s4e o1 3fAFIS Toetderst

(2) Aot ATferd TaaTfelal T AT foEhic

(3) HR-trerer H g

(4) TR aelleaelel

(A) shaer 2,3 (B) &hael 1,4
(C) Fadl 1,2,4 (D) 3ugerd Tt

Which of the following are the main causes of
climate change?

(1) Increased burning of fossil fuels

(2) Increase in the number of oil-powered automobiles
(3) Increase in solar flares

(4) Excessive deforestation
(A) Only 2,3

(C)Only1,2,4

(B) Only 1,4
(D) All of the above

eafy JquoT F AR ¥ Fefafla & ¥ frw s
T w2

(A) AT (SESIER

(C) g (D) IS TéT

Which of the following units is used to measure
noise pollution?
(A) Nanometres
(C) Hertz

(B) Decibel
(D) None of the above

fiA & al F g F F fav e At & @
R geT & AT ST §-

(A) TEHR STSIHFATSS (B) FoRIA

(C) eIt (D) SIS SIFHFATSS
Which of the following gases is used to purify
drinking water-

(A) Sulphur dioxide
(C) Fluorine

(B) Chlorine
(D) Carbon dioxide

faifas & & s R &1 9 @1 T
TSI Y 59 Rueavsa & e F1a &
LAY TEATRT FeT &7 ATFT USTT FaT § 2

(A) WJ’ 211 (B) Wob 210
©) mot 213 (D) mob 214
Which of the following Articles of the Indian

Constitution empowers the Governor to promulgate
ordinances during the recess of the State Legislature?
(A) Article 211 (B) Article 210
(C) Article 213 (D) Article 214

P 3T AT F AARENT FY 3TF FRGT A
38F 9g ¥ FEF ganT gTT A1 dHaT §-

(A) FEE aRT & fogTs SgAd § TR Hehed & 3R
R {rsgufd ganT

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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46.

47.

48.

(B) T T &1 TIUTHUSH 3H 31T HT al-fags
TEAC A TEATT IR R A AT o AAdTeT GIRT
(C) Tae T TN & YR 9 3TddHA AT &
(D) =T faurer #Asar 1 RERYT W Is9 & 3=

AR o HET w A1l eaRT

A judge of a High Court can be removed from his

office during his tenure by-

(A) By the President on the basis of a resolution
passed by the Parliament with a two-thirds
majority

(B) By the Governor of the State if the State
Legislature passes a resolution to this effect with a
two-thirds majority

(C) By the Chief Justice of the Supreme Court on the
recommendation of the Parliament

(D) By the Chief Justice of the High Court of the State
on the recommendation of the State Legislature

&b A TE F ToFUT F W@ L-IFias vt
F T FACAR FGId HIfSTC-

&. INTTel GadT Jeer

g. 9fRgdT AFEYT uger
. qdi -Hewlr weer

. gfarol qdf qorT gewr
(A)s, o, 9, T (B)g, M, &, T

(C)g Mg = (D)@, 9,9, &

Arrange the main physiographic regions of
Rajasthan in the correct order in terms of area-

a. Aravalli Mountainous Region

b. Western Desert Region

c. Eastern Plains Region
d. South Eastern Plateau Region

(A)a, b, c,d (B)b, c, a, d
(C)b,c,d,a (D)b,d, c,a
FEGeATHPR IH FAI (TET) FT qa9 AJfoF

fFar e 37 ygar & suEr € 2

(A) 99ER T Helel (B)YSH FEEINY &

(C) AWTIEr geer (D) M=ars gear

In which sub-region is the maximum spread of
semi-circular sand dunes (Barkhan)?

(A) Ghaggar plain (B) Dry desert region

(C) Shekhawati region (D) Godwad region

e gafaa fifse-

FIYT HT FfRTor TS & Feary qeor

(1) Aw (@) AT aut &

(2) Bshw (@) 35T s T2

(3) Bwhw (aT) 31& Yoh T

(4) Cwg (e)FSuThfeaeiiT 3 ueer

49,

50.

51.

52.

ALF QT Q)T @HH
B LT @7 BT 4HF
(OIOENEINCORCROR]
OO @@QF@ET A

Match correctly -
Koppen's classification

of climatic regions of the state
(1) Aw (a) Monsoon rainfall region
(2) Bshw (b) Hot arid region

(3) Bwhw (c) Semi-arid region

(4) Cwg (d) Tropical Wetlands

(A @A (B 3)C (9D
(B)(1)D (C (3)B (4 A
C @A (9C (3B (4D
OG)MWD (2B 3)C (4 A

giaolt Ieede & waifs auf gt & 2

(A) 3RT WERT AT arEr &

(B) SaTTeT I WIET I ATTEeAT W1 &

(C) efArSuT Tgharal I

(D) sitea B HITGA Taeit &

Southern Rajasthan receives the maximum rainfall
from?

(A) Arabian Sea monsoon branch

(B) Bay of Bengal monsoon branch

(C) Temperate cyclones
(D) Returning monsoon winds

T H g 3107 Rear B aat #1872

(A) YiepaT (B) GTITaTeT

(C) g (D) TeTer

Which forest has the largest spread in Rajasthan?
(A) Dhokra (B) Teak

(C) Bamboo (D) Palash

Foor Hfeatr g oAy |, aAe 15-25° dfewaw
T 125-165 WAY. Nt fhe Ue ] HaH HeTHA ¢ ?

(A) Fard (B) E
(C) o=t (D) d#sTh

Tropical humid climate, temperature 15-25° Celsius
and 125-165 cm rainfall is most suitable for which
crop?

(a) Cotton

(c) Sugarcane

(b) Wheat
(d) Tobacco

- | 1 -1 & T e e -

-1 (Hee $r8) -1l (Frfa)
(i) .. Heie (F) et
(i) 5 i (@) fAFamrer
(REGIGIE;IE (31) SR
(iv) <t faTer didie (Fthe) (an) FaEr

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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53.

54.

55.

(A ()& (i) @ (iii) 7T (v) &
B) () & (ii) T (i) T (v) F
() ()@ (i) 7 (i) F (iv) &
(D) () @ (i) & (iii) 77 (v) F

Match List-l with List-Il correctly -

List-I (Cement Unit) List-Il
(Established)

(i) J.K. Cement (a) Gotan

(i) Shri Cement (b) Nimbahera

(iii) Binani Cement (c) Beawar

(iv) J.K. Birla Cement (White) (d) Sirohi

(A () a (i) b (i) c (v)d
(B) () b (i) c (i) d (iv)a
(©) () b (i) c (ii)a (v)d
(D) () b (i) d (i) ¢ (iv) a

SATERT Y IT TUT AT - ST & H @A ¢ -

(A) PRI Hr (B) AT T

(C) oilg 3raEa (D) Hareirsr

The mines of Nathra ki Pal and Morija-Banola area
are -

(A) Coal
(C) Iron ore

(B) Copper
(D) Manganese

FleT - FleT { TRAATH FAT & THE T ¢ ?

1. EEt T sy 2. STl FelRT

3. <o Y &E 4. I T TR
(A)1,2,34 (B) Fhaer 1 31k 2
(C) &haer 1, 33X 4 (D) &hae 3 31X 4

Which are the main sources of biomass energy?
1. Mustard straw 2. Julie Flora

3. Rice husk 4. Sugarcane wood
A)1,2,3, 4 (B) Only 1 and 2
(C)Only 1,3 and 4 (D) Only 3 and 4

TS A YT WHAAT TIT AT 3T qaATT
T F F@E gafaa fifgw
Uil @I T gdATT TUA

(1) T9RY % rorarsr
(2) SR g fAcdisee
(3) s T 3R

(4) ETS g JoTHHG

@MF QT R)T (4)H
(L)W @ (2)F (3T (4
@@T Qg @)F AT
@@ Qa @I (4

Match the ancient civilization sites of Rajasthan
and their present sites correctly?

Ancient civilization Site Present site

56.

57.

58.

59.

(1) Nagari A. Bhilwara
(2) Bagor B. Chittaurgarh
(3) Gilund C. Udaipur
(4) Ahad D. Rajsamand

(@ (1)A (2)C(3)B(4)D
(b)(1)B(2)A(3)D(4)C
(©@1)C(DER)A4B
(d@)B, (DB CAHA

gaogs (FFTaReE) & wew fFw wewar @ o

A
((NEIGIEEL (B) 3TETS
(C) IR (D) RT3

From which civilization have the evidences of
Havan Kund (Agnivedika) been found?

(A) Kalibanga (B) Ahad

(C) Bagor (D) Bairath

e gufea Rraee & #gRon 3R @Rt #
T§ Fer-AATs WY FT v ¥ -

(A) IeTTiE gafed (B) FFererdTe R

(C) IRuT T (D) ATl TRreer@
Which prashasti inscription describes the Mughal-
Mewar treaty made by Maharana Amar Singh -

(A) Rajsingh Prashasti

(B) Kumbhalgarh inscription

(C) Cheeran inscription
(D) Samoaoli inscription

fame & @ JeR-ufdER UeET F TR F a6 Fua

e -

(A) Vgrel 3ifarere & R Sfd T FIYUH Seoid
g3 ¢

(B) ATTHE GUH T GERT ATH ‘AETdciR AT

(C) et I gaTeT & WMTHATT FT Iea@ R

(D) TATTeRR SRIfEd &I TG ATHE gfadrT o &I
o

Which of the following is not a correct statement

about the Gurjar-Pratihara dynasty -

(A) The Gurjar caste is first mentioned in the Aihole
inscription.

(B) The other name of Nagabhatta | was 'Nagavalok'.

(C) The Chinese traveller Hieun Tsang has mentioned
Bhinmal.

(D) Gwalior Prashasti was written by Nagabhatta Il.

AATS F AT F T FAHRATER Jafeyd
Hifore-

(1) ¥R g ( 2) AERIUT or@m
(3) FGRIOT HFaT (4) SATEE
(A)1,234 (B)1,3,4,2
©)4,1,2,3 (D)4,1,3,2

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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Arrange the rulers of Mewar in correct 1 2 3 4
chronological order- (A) A B C D
1) Samarsing 2) Maharana Lakha B) A B D C
ingh h kh
(3) Maharana Kumbha (4) Jetrasinh (©)B A D C
(A)1,2,3,4 B)1,3,4,2 (D) D C B A
©)4,1,2,3 (D)4,1,3,2
o 64. farafaf@a 7=ul & av & AR Aifaw -
60. TSIEATT & & ALAFTellal Aodl A Afdfeas ggam 1. rErad > WTETR
. g
e fare sriter faam smar - 3. fRgua® 4. FAPIT P FAT
(A) TTHIT HiT & T R —
(B) oI FAEA 31T & 574 e SO 3 @ Fordr | Fer T wE @t (T HR)
In the early medieval states of Rajasthan, the (C) FaeT 33 5 (D)3 |é°5|z areit
Naimittik designation was used for whom? Consider the following texts -
(A) For the state poet 1. Desavali 2. Sudhasagar
(B) For the main centre of the public health department 3. Virahshatak 4. Kanakavati Ki Katha
(C) For the state astrologer 5. Kabutar Nama
(D) For the chief judicial officer Which of the above texts is/are written by Nyamat
Khan (Jaan Kavi) -
61. ‘sfiq # e Frw Ramwa # wafea o 2 (A)1,3and5 (B)1,2and 4
(C) Only 3and 5 (D) All the five of the above
(A) SR (B) SherqR
(C) #ars (D) SR 65. HiaA | F Flad || § gAfaa AT aur A B w2
I(R)thIi(ch state was ‘BhinthBI)()i JBr:jich’ popular? FT #Y FErIaT ¥ 3947 3a% for -
ikaner odhpur .
(C) Mewar (D) Jaipur 1. @rselr S T Afee A ZIRT
2. fasfhwor Afeax B. &llergy
62. HfATST WAAGH H “HFaX fFeg &1 THAM & o 3. AT HERT AT C. e
TS & ifATeH Tole FT 41 A1H AT 2 4. &3 ArAaTY Al D. ST
9
(A) FoTel SFAT (B) Taferasasr 1 2 3 4
(C) ¥ Aray (D) AR g5 Egg g g 2 g
What was the name of the political agent of Mewar ©) D C B A
who gave the title of "Kesre Hind" to Kaviraja (D) D A B C

Shyamaldas? Match Column | with Column Il and give your

(A) Colonel Impy (B) Williamson answer using the code given below -
(C) Captain Showers (D) Major Eden 1. Ladli Ji Ter?]ple ’ A. Dungarpur
2. Vibhishan Temple B. Dholpur
3. Sepau Mahadev Temple C. Kota
4. Dev Somnath Temple D. Jaipur
63. Tt | Y el 11 & Fovamer e - LgPe g
1. STARTIOT it A. graferT EA; A B C D
B D C A B
2. g3 S B. foerarst (©) D C B A
3. FAcallATY i C. darér (D) D A B C
4. FhgTyofr D. 37Tdig .
1 ) 3 4 66. far=faf@a & & wlaar sy @& a8 ¥ -
(A) A B C D (A) Rar= gd7 1 fAAToT IR ARGT 9 aR A Swarr
(B) A B D C o
(C)B A D C .
O)D C B A (B) fRaretr g3t &l Sk gat & ol ot gl STl g
Match List | with List Il - (C) SIIFIRIICT =418 1 T & gl # §& Ty
1. Devnarayan Ji A. Samalia
2. Hardu Ji B. Tilwara @ I Al
3. Mallinaath Ji C. Bangati (D) 59 §‘r H ¥g AfaHATE & EE BT &
4. Kehardhani D. Aasind

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd Page 9
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67.

68.

69.

70.

Which of the following statements is not correct -

(A) The Siwana fort was built by Veer Narayan Pawar.

(B) The Siwana fort is also called the key to the Jalore
fort.

(C) Jayanarayan Vyas was kept captive in the Siwana
fort.

(D) The dargah of Saint Malik Shah is situated in this
fort.

Fiad | F oA || & gAfaa AfFw qur @ R
T FT A FeR—AT F I I AT

1. TS FHg el A. SR

2. BAHE B. g&r

3. §oI8T Hg C. #rerarsr

4. AEARE FEA D.dl&

(A) 1-A, 2-C, 3-B, 4-D (B) 1-B, 2-C, 3-

(C) 1-A, 2-B, 3-C, 4-D

Match Column | with Column Il and give your
answer using the code given below -

1. Bijolai Palace A. Jodhpur
2. Chhatra Mahal B. Bundi
3. Baneda Palace C. Bhilwara
4. Mubarak Mahal D. Tonk

(A) 1-A, 2-C, 3-B, 4-D
(C) 1-A, 2-B, 3-C, 4-D

(B) 1-B, 2-C, 3-D, 4-A
(D) 1-C, 2-B, 3-A, 4-D

Sfavawy, AGFAG &G, dATafdg IS g @
Ty T A AT F FT A ¥ -

(A) AaT FHell (B) HiATRRY

(C) 3&dTehell (D) w8 FHRY

Jyotiswaroop, Mohammad Hanif, Lal Singh Bhati
etc. are related to which one of the following arts -
(A) Theva art (B) Meenakari

(C) Usta Kala (D) Phad painting

Flaar ww gafaa a8 ¥ -

(A) TEHATT - 36TR (B) RIRT - SUR
(C) 3/heT - $ferarst (D) 3T - fheR
Which one is not correctly matched -

(A) Takhman - Udaipur (B) Chitera - Jodhpur
(C) Ankan - Bhilwara (D) Aayam - Bikaner

far Fyal § R F AR fifaw -

1. ¢avte AT T geprer F oY F AT BT, MR
U H AT g

2. §O - 3UM &l TSTEYTST T AleATiordr $Y gl Jrdr
gl

3. GERH, UERA, FARME0T, TS e FaRR
ATeaRT fIadel ¥ Feafed Bl

4. 9 - 9iEdT T gartee T §& Aol 7 grorhar
gl

71.

72.

73.

39dFd # @ FHIAA/RIAH HUA T B

(A) haer 3 3R 4 (B) dhaer 1 3R 2
(C) Faar 1 3R 4 (D) 3uged °RT
Consider the following statements -

1. The credit for bringing Devgarh style of painting to
light goes to Dr. Shridhar Andhare.

2. Bani-Thani is also called the Monalisa of
Rajasthan.
3. Painters like Khubiram, Ghasiram, Narayan,

Chaturbhuj etc. are associated with the Nathdwara
style of painting.

4. The maximum depiction of animals and birds is
reflected in the Bundi style.

Which of the above statements is/are correct.

(A) Only 3and 4 (B) Only 1 and 2

(C)Onlyland 4

(D) All the four of the above

GTHSAT a9 FHCAT fFE § wFafd ¢ -
(A) ISTEATT olieh AT & 91

(B) TSTEYTAT gEdhall & 3cUlG

(C) TSTEUTS eliehdfiaT

(D) TSI H GfAsT 3cured &7

Khatkatya and Jhamatya are related to -
(A) Characters of Rajasthani folk drama
(B) Rajasthani handicraft products

(C) Rajasthani folk songs

(D) Mineral production areas in Rajasthan

FTHT vF IH W FATAT AR -

(A) @Y - 3eTag dey I

(B) gRer - R ared I

(C) uradl - ddq drey I

(D) ofSH - gl ey I

Which one pair is not correctly matched -
(A) Khanjari - Anvaddha musical instrument
(B) Sunrida - Sushir musical instrument

(C) Pavri - Tat musical instrument
(D) Legim - Ghan musical instrument

Fed | B Pl || § gafaa Afow qur HF Re
T FT H T F HYAT IR dAC-

1. IF{=r A. gTeidT &
2. fager B. ST &1
3. ERmar C.Hars a9
4. gafear D. ST &

1 2 3 4
(A) A B C D
(B) B A C D
(C) B A D C
(D) A B D C

Match Column | with Column 1l and give your
answer using the code given below -

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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74.

75.

76.

77.

78.

79.

80.

1. Rasiya A. Hadoti region
2. Bichhura B. Braj region
3. Jhorava C. Mewar region
4. Sunwatiya D. Jaisalmer region
1 2 3 4
(A) A B C D
(B) B A C D
(©) B A D C
(D) A B D C
fAmafaf@a gat & R & AR fifvw -
1. ST i 2. AT S
3. SIETTY Si 4. ST ST
39 A FieT - el agon & Rsg T 2
9
(A) Shael 1 (B)1,23R3
(C)13ik2 (D) 1,234

Consider the following saints -

1. Bakhna Ji 2. Madhodas Ji

3. Jasnath Ji 4. Jagannath Ji

Who among the above were disciples of Dadu Ji?
(A) Only 1 (B)1,2and 3

(C)1land 2 (D)1,2and 4

SRt aYelt frer & & el ST & -

() STHATST (b) XA

(c) I (d) SR

Jagrauti dialect is spoken in which region -
(a) Banswara (b) Bharatpur

(c) Karauli (d) Jaipur
39 e Usg §-

(A) afed (B) TeTefeifcl
(C) |IeIoT (D) Freard

uSfFT T Iy FATE FT ST §
(A) A TqeN (B) T e
(C) 3UIET TAcqeY (D) FFaH dcqey

Arafafaad & 9 9 s /' v 3T A9 &-

(A) TRT (B) ORI

(C) Ia’T (D) FIT
mamﬁ'm'mmmaﬁgm%-
(A) TSI (B) IHTIIR

(C) #AEEIR (D) ISR

SUYF" g FT WE WY A=A g -
(A) U + 3Fd (B) 39 + Il
(C) 3UR + gad (D) 3R + 3Fd

81.

82.

83.

84.

85.

86.

87.

88.

89.

‘qaeT ereg FT @i faedg g -
(A) T+ g (B) 9a + 37
(C)dr+ 3 (D)9a + o

g1l &1 gaarh oreg A ¥ -
(A) HIT (B) B
(C) qusdi=h (D) AATaT

e Reew & wsft e gt & gdgarh § -
(A) &R, 37afeT, HeT

(B) Her, faegsny, exof

(C) 31T, &R, ATAH=AT

(D) fexfay, agger, Aifer

qaiaT Aee) & Feesh H IRT oA wifew-
(A) FoRoT - TRH, FYE, 31

(B) @1 - Feeed, XU, URTAd

(C) FUT - FUR, HEIR, arsofy

(D) 3T - s, YA, SfeaFd

“fEcior &1 Td T T -
(A) Jcehrot (B) ThIot
(C) 3tefcifor (D) fachfor

g ¥ Flaw oA 3w 7@ a8 E -

(A) TFafa - faufa (B) 3% - 3ifase
(C) 3 - 3 (D) 379l - 3=l
fre FAw & aeg-geA F1 7 A A ¥
(A) TOT - ol =i ik &

(B) 31Aer - fe¥er = gar IR 3ifeaT

C) 7R - AN =W\ M gF

(D) 2efTel - ellel = a1aT 3R frse

T FHT qEA Y FAAT e qren ¢ Ay F QAT
ardw ereg g -

(A) Begreasr (B) FTer@R
(C)gse (D) 3Tl

‘ATl FI A TR A F A A g ARFT w7
I ¥ -

(A) ST AW TUR aTelT|

(B) Tsh 3MTed ORI Y 3R 8T &3 §I1d|

(C) 31fAF SATAet aTet FT U S aTelT|

(D) G&RT T FFYfed & o1 3S[e arelT|

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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90.

91.

92.

93.

94.

95.

96.

‘TS AFT W FE UG A gsaT  ’ Y A yFe
F arell AREFT -

(A) 3T IR Belehd oI

(B) IR &l Sileh sTgl oldTcir

(C) &t & & STl & =81 AT

(D) BFeeY & X & TAA & del

The average age of 14 friends is 14 years. If the
age of 15th friend is added, then the average
remains same. What is the age of the 15th friend?

14 =t &y atwa amg 14 af 71 IR 157 g A
g s & S, @ e gHE @ar g1 158 A
+T I FAT B2

(A) 15 years
(C) 14 years

(B) 18 years
(D) 12 years

If '+ means 'division', '-* means ‘addition’, 'x'
means 'subtraction' and '+' means 'multiplication’,
what will be the value of the following expression?

&1 AT FAT M2

[{(48x20)-(2+4)}+((2-4)]+2
(A) 10 (B) 12
(C)6 (D) 8

A can do a work in 5 days, B in 4 days and A, B
and C together in 2 days. In what time could C do it
alone?

ATH ¥ # 5 feal & FT Far &, B, 4 feat & aur
AB3Rcur @ & A 2Rt F T FFa & @

C 3o 30 fFas AT A T FHAT ¥ ?

(A) 15 days (B) 20 days

(C) 26 days (D) 25 days

If 14 January 2022 was Friday, then what will be
the day of the week on 28 February 2025?

M 14 STl 2022 FT YHAR AT, A 28 HEA 2025

I Fodlg T HiT AT T ghom?

(A) Friday (B) Monday

(C) Sunday (D) Saturday

Select the option that is related to the fifth number
in the same way as the second number is related
to the first number and the fourth number is
related to the third number.

37 RAFeT &1 937 Hifow I gradt g ¥ 346
YHR §afd § o qEd sewr , ugelt WEwm @
gafaa § ik ot gea, e e @ gafta §
9:27::12:48::6: 7
(A) 18
(C) 12

(B) 20
(D) 22

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

97.

98.

99.

100.

v @en & 7% § 9w & 9 qoa §1 R aw
RAFedl & & a7 @€ RAFeT 1 9w N J@er A

Q0 FH3I

TRAP, MMRE, FHIT, YCZI, ?

(A) RYQY (B) RXQX
(C) RYQX (D) RXQY

Two trains start at the same time from Bangalore
and Chennai and proceed towards each other at
the speeds of 80 km/h and 95 km/h. When they
meet, it is found that one train has travelled 180
km more than the other. The distance between
Bangalore and Chennai is:

A & v @ gHg W AR AR Aed @ o A
£ aur 80 frdvEer i 95 fralEer i afy ¥ vs-
gEY #1 3R doct §1 5@ § et & @ gar Tear §

e ST gl & 180 el SwmeT W THY B
doreR 3k Aeg F dra Fr g =R

(A) 345 km (B) 400 km

(C) 1200 km (D) 2100 km

In a certain code language, 'TAKES' is coded as
'51', 'LEAVE' is coded as '40'. What is the code for
'TEAM' in that code language?

F fARad de s F |, 'TAKES' Y '51' F ™ H
Feag AT 1T 8, LEAVE' ®Y '40' F 9 H Feag
o ST 1 3% Fe st A TEAM' & AT g w4
&7

(A) 49
(C) 36

(B) 34
(D) 39

Roshan is the brother of Kripa, who is the son of
Pranjal. Vaishnavi is the wife of Aayush. Pramila is
the daughter of Devika. Devika is the grandmother
of Aayush, who is the son of Roshan. How is
Roshan related to Pramila?

ereT, FUT T o478 ¢, ST Fister HT GF g Asorel, 1Y
& gt g1 wiEer, e B g ¥ R, Iy #r
gy ¥, S AT FT T ¥ Qe FT 9T & F=4w
qFaeH 2

(A) |gX  Father-in-law
(C)#S  Brother

X and Y invest Rs. 5200 and Rs. 6200 respectively
in a business. If X doubles his capital after 6
months. In what ratio should X and Y divide that
year's profit ?

X 3R Y U gad™m # FAA: 5200 T 3 6200
Y &1 A3 WA &1 IR’ X, 6 FAF F I U
gelt Y QNI F &ar 71 X AR Y B 37 a¥ & amr

(B) [adr Father
(D) HAS/ATST Nephew

 frw srqara # Renfaa e @i
(A) 39: 37 (B) 39 : 31
(C)39:32 (D) 31: 39

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
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e 27 |aval FeasH 9| s 98I € | S9! JAwherdar |

FATHIAON o6 aoATa e H FSell § | dealal 361 | S g 3 o6 forg,

Tafera gfaanT gden = 3 S-S oRd S 9 396
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